Time Table

4755 E—-3anThyT
800  ZfIfAAE
830 BFAR=X
900 BB
AGFUR HIISUR
B HhFII— HFT)—
1 2 3 4 5 6 7 8 9 10 11 12
9:00 Ta=T L axb M axb N axb O axb P axb
9:10 =7 A axb A cxd B axb B cxd C axb C cxd D axb D cxd
9:20 2EFE Fi A axb B axb C axb D axb $a=7 E axb E cxd F axb F cxd G axb G cxd H axb H cxd
9:30 o= Taxb Toxd J axb J oxd K axb K cxd
9:40
9:50 mini A axb A cxd B axb B cxd C axb C cxd D axb D cxd
10:00 2EFE Fi A bxc B bxc C bxc D bxc mini E axb E cxd F axb G axb H axb
10:10 o= L bxc M bxc N bxc O bxc P bxc
10:20 DaAZT | ARBE | ASGIRTER| B RS |B SHURTH| CIRESH |C SRIREM| D REH |D StIRTH|
10:30 Daz7 | ERBE |E SGURER FIRESE |FSUREH| GIREE (G SGIREH| HRBE |HtURER
10:40 2EFE Fi A aXc BaXc CaXc Daxc TaZ7 | LRESEE (1 SEREE JREE |U SGIREE| KIREE (K 3GIREH
10:50
11:00 mini A RISE | ASKIRTER| B RESE |B StREM| CIRBH [CUREM| D REE |D trrEs
11:10 mini E RESE |E SHIRER F bxc G bxc H bxc
11:20 Ta=T L axc M axc N axc O axc P axc
11:30 2ETFE |platedERE ) @ bow'%*”* ©)] mini F axc G axc H axc
11:40
1150 | 2EFE |ocup HRES @ @
12:00 Saz7y b°w'@1>@¥i ® ®
12:10 $az7 b°W'C:>@¥i @ ® @ ® ® @
1220 | 2EFE plateikB | bowlkH gazy |PeelER g ® ® ® ® o)
1230 vazy |wlER| g ® @ ® ® @
12:40
1250 | 2EFE cupiRR mini | bowl @1)@% () ® @ ®
AUGTSUR HITSUR
53] HhFII— HhFay—
1 2 3 4 5 6 7 8 9 10 1 12
13:00 mini CUDEDEM @ ® @ p'atea)ﬁm @ ® @
BOWIZIRTEX, | DowIZIETEX | DoWIZIETEX | bowlZ[ETEX | BOWIZ[E[EX | bowIZ[ETEX | bowlZIETEX | bowlZ[E[EX |
13:10 Ta=7 ® ® () ®
CUPZ[ATEX | cUpZIA[EX | cupZ[EIEX | cUpZIA[EX | plateZIHIEX | plateZ[RIEX | plateZIEIEX | plateZ[AEK |
13:20 Ta=77 ©® ® (@) @ ©® ® (@) @
Vi=7T VAT vi=7 VAT
13:30 mini | POWI2EIRE | bowl2ER, | bowl2EIRK | bowl2BIRE |\ C Loy | povia s | bowldEHE: | bowlSEH:
@ @ @ en) 21 29 22
13:40
RIGHINE ., EELBBE
13:50
' s — o mini cup s — plateZE R | plate 2 R H | bowlHE R | bow!#E R i
14:00 Da=7 |cup HiREE ® ® R ® Sa=57 ® ) o4 o8
14:10
14:20 mini plate#E R i | plate #E 3R H | bowlHE R | bow!HE R i
: ® ® (D) @
14:30 $az=7 R cupiRHE | plateiRE | bowliREF
14:40 mini RS cupiREE | plateiRE% | bowliREE
14:50
15:10 Bz E3E-E=9




